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222 = 2 s
HH2AAH (WED)
Jl2&dhl ?HA)
I SN Y. B () NEAY - BAS il HDS2
01 AFR2 22l Yl 6,200 6,200 0
Oget=gH| 6,200
oHHJ AR ESHI 200,000& « 12& 2,400
OAIRINADERL 250,000& = 12& 3,000
o J|Et+=2H| 800,000& * 14 800
202 O B 13,320 13,320 0
01 2L Y| 13,320 13,320 0
OJI=2gf =auyl 90,000& *» 37H = 43| 13,320
203 ¥R =&H| 6,060 4,620 1,440
04 ENSHLR=AH| 6,060 4,620 1,440
ORNIIRFA 505,000& « 12& 6,060
MREs(sSH) ,301,630 646,702 654,928
WEHAN XK= ,301,630 646,702 654,928
WHEHH K= ,301,630 646,702 654,928
701 JIEISI HSHEZ ,301,630 646,702 654,928
01 JIEtSHNME =2 ,301,630 646,702 654,928
OusSAg SE3HAH SANHEAME ZE
) 1,630,000 = 14 ,301,630
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A & 0l & AF 2 E A A
Az 2By SAHSEAED
g s
ool MR2HS S4 CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
MEsEALAEY 17,151,346 10,946,219 6,205,127
= 5,750
Xl 360,000
J| 1,613,615
< 360, 166
Al 14,811,815
H=EdsE 15,610,212 9,558,449 6,051,763
Xl 360,000
J| 1,314,094
< 347,016
Al 13,589,102
H2HE E4 6,775,420 6,641,977 133,443
H=3 X 1,064,517 882,632 181,885
301 Lt A2 453,437 385,552 67,885
MIIEBE4d3 453,437 385,552 67,885
OZEAMNHEE 328,580
ol H| 219,357
AR=F 4,168,800& » 19 = 128 50,026
AREH 2,615,100& * 2% » 123 62,763
- YHRAA 2,200,200& = 3H » 128 79,208
2+ 1,200,000& * 6H * 23 14,400
ESh= e 180,000& * 6" = 123 12,960
o=l =4l 35,240
- O A
2,500,000 = 1/30 = 6% » 10 5,000
HE SO
2,500,000& * 60% » 6H * 23 18,000
s 40,0002 * 6F * 123 2,880
= 4lHl 130,000& = 6 = 128 9,360
oA2Ie 2R
10,000& = 25A12t = 6@ » 123 18,000
oAE REYS 28,723
=2%= 263,237,000& * 4.5% 11,846
HAEE= 263,237,000& * 3.06% 8,056
FIRISEBES 8,056,000& * 6.55% 528
- NEEEe 263,237,000& * 2.15% 5,660
MM EEE 263,237,000& * 1% 2,633
o &l A MY3Z 272,597,000& = 10% 27,260
OZMAH =3l 124,857
=l 81,401
CAR=E 2,263,700 * 1¥ » 123 27,165
- HRAHA 1,914,800& » 2% » 128 45,956
-d32=sE 600,000& = 3Y « 23] 3,600
Mg E x| 130,000& 3 = 128 4,680
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o=l =4l 15,090
o1 DL A H|
1,950,000& * 1/30 * 3¥ = 102 1,950
- EE 50t
1,950,000& » 60% » 3% * 23| 7,020
IIESE 40,0008 = 3F * 123 1,440
= 4ltl 130,000& » 3Y¥  12& 4,680
oAN242A2RFE
10,000& = 25A12t = 3H = 12& 9,000
o2& RE= 19,366
ZUHSEE = 100,811,000& = 4.5% 4,537
CHYEEE 100,811,000& * 3.06% 3,085
FIRRIYBEZ 3,085,000& * 6.55% 203
ATHEEZE 99,011,000& * 1% 991
SESESE=EE 105,491,000& * 10% 10,550
307 glz2tol & 611,080 497,080 114,000
02 It M AHE X 562,280 461,680 100,600
ORUANHAANGFEx 562,280
oME3 2 XA i XA
2,130,000& * 13¥ * 123 332,280
ce40t 22l 15,000,0008 * 23| 30,000
o4 d4 B4 L DY B
120,000,000& * 14 120,000
cHSHUEY 29 5,000,008 * 14! 5,000
oSJSyL ALx 220 X8
30,000,000& * 14 30,000
ocHWA=ES 245t 30,000,000& * 14 30,000
ocHFEH 7 5,000,000& * 14l 5,000
ocHESHH /AS 10,000,000& * 14 10,000
03 QIZtHHHE2HHEX 48,800 35,400 13,400
oot =2l 48,800
ocdEAMMUSE MR= 2g
1,400,000& * 128 16,800
ocUSAHEE SRS 21,000
SARE 1,500,000& * 12& 18,000
CAR=E 250,000 * 123 3,000
oME3l XAt 11,000,000& * 14 11,000
NyesHIR 29 4,750,078 4,770,694 £20,616
101 @124l 29,753 26,369 3,384
04 JIZHHZ2Z2XNSE S 29,753 26,369 3,384
OAZE e+td 2te| 29,753
=Jl2g 63,5003 * 1H = 230 14,605
oFXtrg 63,5003 * 1H » 46 2,921




A= 2ot = M HEsEAEY
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AR RA BB OBH) - MBEAY - BAS O Ak o8 ﬁlf& HD=2
o ARt 63,500 * 1 » 11 699
oEYLY 63,5008 * 150% * 62 « 119 6,287
oA2el 2Ry
11,910& * 40A12F = 11& 5,241
201 LBt A H| 75,000 50,000 25,000
03 A2 EH| 75,000 50,000 25,000
OUWAM<E2ld &8Il &% 75,000,000& * 14 75,000
202 04l 10,080 10,080 0
01 2L Y| 10,080 10,080 0]
OUMAEelD &IoF &3 S ¢l
20,000& = 3Y = 143 ~ 12& 10,080
301 dEtEAZ 4,535,245 4,524,245 11,000
Vo= - 2SESEANZ 4,535,245 4,524,245 11,000
Oos1= 2,520,159
SR=10;] 1,150,000
Z= 60,000,000& » 1¥ 60,000
X 45,000,000& ~ 1H 45,000
- Edoly 40,000,000& * 14 40,000
Mg Edoly 35,000,000& * 1& 35,000
- E3 d 45,000,000& * 4™ 180,000
AZ = 40,000,000& * 6YH 240,000
- B2 &= 35,000,000& * 64 210,000
=2 &% 30,000,000 = 8YH 240,000
DS A 25,000,000& * 4™ 100,000
o4l BEEE 158,159
=0HA=EEHE  1,449,600,000& * 4.5% 65,232
-HUYEE = 1,449,600,000& * 3.06% 44 /358
A RYBEE 44,358,000 * 6.55% 2,906
D882 1,449,600,000& * 2.15% 31,167
CNMIHEE = 1,449,600,000& * 1% 14,496
o g M3 1,449,600,000& * 10% 144,960
oXN&% 9,600
= 300,000& ~ 1 * 12& 3,600
X 200,000& * 14 * 12& 2,400
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oM Z&| 100,000,000& * 14 100,000
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oA = 6,000,000& = 14 6,000
S+ 20,000,000& = 14 20,000
Mols 8,000,000& * 14l 8,000
o g (2H)Aldl 176,640
= 2l Hl 21,0003 = 328  230¢ 154,560
2HAIH| 3,000 = 32% = 230 22,080
°cEERS 15,000,000& * 14 15,000
o ZHH| & XHhl 1,000,000& * 12& 12,000
oY 3l 40,000,000& = 14 40,000
o= 2| 5,000& = 328 230 36,800
oY Bt2IH| 30,000,000& * 14 30,000
oA E4H XI&  8,000,000& * 14 8,000
Os4a= 706,086
SR=10 370,000
= 45,000,000 = 19 45,000
S U= 45,000,000& = 29H 90,000
-AS Hd= 40,000,000& » 5H 200,000
‘Bz M= 35,000,000& * 1H 35,000
o4l EEE 45,606
- ZASEEE 418,000,000& = 4.5% 18,810
HLEE= 418,000,000& * 3.06% 12,791
CHIIRSEES 12,790,000& * 6.55% 838
nNE28= 418,000,000& * 2.15% 8,987
MTHEE S 418,000,000& * 1% 4,180
o & & MYz 418,000,000& = 10% 41,800
SPNEE =, 200,000& = 1% = 12& 2,400
csdEg 200,000& = 99 « 123 21,600
oxJtHE=SY 500,000& * 294 » 12& 12,000
oS8d 18,000
I&3 18,000,000& * 14! 18,000
c=2dH 234l 6,000,000& = 14 6,000
oRpda AYHI 20,000,000& * 1H 20,000
oM X E& | 30,000,000& * 14 30,000
=M 30,000,000& * 14 30,000
o2 AXZ (2 Z4l) 5,000,000& = 14l 5,000
CEHES 30,000,000& * 14 30,000
o g (2H)AlH 49,680
= Al 21,0003 = 9¥ « 230 43,470
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AR RA BB OBH) - MBEAY - BAS O Ak o8 ﬁlf& HD=2
2HAH| 3,000& * 9H * 230 6,210
o &H| Y Xty 11,000,000 = 14! 11,000
os5R3 7,000,000 = 14 7,000
oAl HE 3IH| 3,000,000& = 14 3,000
oAbt AY| 3,000,000 = 14 3,000
oga= 569,215
SR=10;] 285,000
2= 45,000,000& * 1H 45,000
s d 45,000,000& * 2™ 90,000
A2 dE 40,000,000 * 2Y 80,000
- B2 &= 35,000,000& = 2Y 70,000
o4l EEE 35,155
- =20HAZ2EEE 322,200,000& * 4.5% 14,499
ALEE2 322,200,000& * 3.06% 9,860
S J}IeYEE S 9,860,000& * 6.55% 646
Nag8sgas 322,200,000 * 2.15% 6,928
MIHEE S 322,200,000& * 1% 3,222
o gl NYS 322,200,000 * 10% 32,220
PN 200,000& = 1€ = 12& 2,400
ozdgxd 200,000& ~ 7 * 12& 16,800
o=JINE ¢ 500,000 = 1 = 128 6,000
oS8 G 12,000
ZAMS 12,000,000 = 14 12,000
o= 2% 6,000,000& = 14 6,000
oM X =&l 18,000,000 = 14! 18,000
o & &H| 12,000,000& = 14 12,000
o B2 AXIZH| (2 2H|) 5,000,000& * 14 5,000
oc=dZEH| 27,000,000& * 14 27,000
o Z2(2H) Al 38,640
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oss5Ra 3,000,000& * 14 3,000
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o= g3l 25,000,000& * 14 25,000
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o333 6,000,000& = 14 6,000
oA AE 3FlH| 2,000,000& * 14 2,000
o &Hl | 7,000,000& = 14 7,000
o &H| 28Hy| 10,000,000& * 14 10,000
o AUt AHY| 3,000,000& = 14 3,000
O&OAAR 302,352
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AIABEE 5,209,000& * 6.55% 342
nag8sas 170,200,000& * 2.15% 3,660
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405 Xt&tE SHI 30,000 0 30,000
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02 YAFAAFEE 15,000 15,000 0
O&=H=C03 15,000,000& * 14 15,000
dXEHE X2 20,000 20,000 0
307 21201 A 20,000 20,000 0
02 IZtE S AHE L 20,000 0 20,000
O&Xsdgd X& 20,000,000& * 14l 20,000
sZUJ d= -1 =703 120,000 120,000 0
307 glz2tol & 120,000 120,000 0
04 DI2HHALALSE E X 120,000 120,000 0
Os2UJl &= 5,0 E=2U3
120,000,000& * 14 120,000
)| =2 64 & -0 S0 70,000 70,000 0
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307 glz2tol & 70,000 70,000 0
04 DI2HHALALSE E X 70,000 70,000 0
O&SI d=0X 5.2 57U
70,000,000& = 14 70,000
SE2EI dI2S0FUE 65,000 65,000 0
307 21201 A 65,000 65,000 0
04 DIZHHALALSE E X 65,000 65,000 0
Os&LEI &= clEor=2Ual
65,000,000& = 14 65,000
celE OFE 3l 15,000 15,000 0
307 21201 A 15,000 15,000 0
02 ItFAAHEX 15,000 0 15,000
OclE ok tial &Jt  15,000,000& * 14 15,000
RS2 290,000 290,000 0
307 gl2tol & 290,000 290,000 0
02 It M AHE L 290,000 290,000 0
OHMb53s ZJAZCIM=EUS &It
290,000,000& * 14 290,000
2R AEUNSUHSE 30,000 30,000 0
307 21201 A 30,000 30,000 0
02 It S AHE L 30,000 30,000 0
OZ3& AUXM=sUE &It
30,000,000& = 14 30,000
22 9™ OtetE U3l 8,000 8,000 0
307 21201 A 8,000 8,000 0
02 QB AAHEX 8,000 0 8,000
OHM27al 29 A OtetE tal &It
8,000,000 =+ 14l 8,000
E2M Z2AE - 2=UH3 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
04 QIZFHALAIH E = 10,000 10,000 0
02018 E=3HM 2 & -0 2=U3
10,000,000& « 14 10,000
ZEA =ZAUSFI| L3l 2,500 2,500 0
307 glz2tol & 2,500 2,500 0
04 QIZFHALAIH 2 = 2,500 2,500 0
OLEAN=SHUZFI U2
2,500,000& = 14 2,500
ZEA OFREEI Hal 8,000 8,000 0




A= 2o = FM I HSEAED
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ol HEHS S4 CER-ED
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 8,000 8,000 0
04 DI2HHALALSE E X 8,000 8,000 0
OZEANOFTESZI| Hal 8,000,000& = 14 8,000
ZSAEI 2EU3 5,000 5,000 0
307 eIzl & 5,000 5,000 0
04 QIZFHALAIH E = 5,000 5,000 0
OHMMal ZEANEI 22U
5,000,000& * 14l 5,000
ZEANEI s4U3 8,000 8,000 0
307 glz2tol & 8,000 8,000 0
04 QIZHHALAIRI 2 & 8,000 8,000 0
OZEANZEI &S 8,000,000& = 14 8,000
ZSAEI BHEZ U3 30,000 30,000 0
307 21201 A 30,000 30,000 0
04 QIZFHALAIH E = 30,000 30,000 0
OHM108 HEANEI EHAE U2
30,000,000& * 14! 30,000
SHAEE el 30,000 30,000 0
307 glz2tol & 30,000 30,000 0
04 DIZFEHALAFRI B X 30,000 30,000 0
OSHAEE 211 30,000,000& * 1A 30,000
JlEt thal N (MENS) 45,000 45,000 0
307 21201 A 45,000 45,000 0
02 QB LA EX 45,000 0 45,000
OJIEt el &It X & 45,000,000& = 14 45,000
BASXAI = -5 S4U3 7,000 7,000 0
307 21201 A 7,000 7,000 0
02 QItFAAHE X 7,000 0 7,000
OHM19a8l ZRATXADI =,5 S4UHE
7,000,000& = 14| 7,000
ZRASX A =S U3 7,000 5,000 2,000
307 21201 A 7,000 5,000 2,000
02 QB AAHFEE 7,000 0 7,000
OHM19a8l ZASTXAI =, =g8Us
7,000,000 = 14l 7,000
ZRASXAD =3 2,000 2,000 0
307 glz2+ol & 2,000 2,000 0
02 QIZtE M AHEE 2,000 0 2,000
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OR223] ZATXIAI U3 &It
2,000,000& = 14 2,000
ZEEXAI 23 2,000 2,000 0
307 gl2tol & 2,000 2,000 0
02 IZHE M AHE L 2,000 0 2,000
OHM2438l ZRASXAMI S=U3E &It
2,000,000& = 14 2,000
ZRTXAD BHAZ U3l 2,000 2,000 0
307 21201 A 2,000 2,000 0
02 IAHFAAHEX 2,000 0 2,000
OHM23al LR XAI EHA =S &t
2,000,000 = 14l 2,000
ZRASXAD 23 2,000 2,000 0
307 21201 A 2,000 2,000 0
02 HIAHFAANGFEX 2,000 0 2,000
ORM243 ZRAZXAD 2EU3 &It
2,000,000 = 14l 2,000
ZRAZXADI 2EZHS 2,000 2,000 0
307 glz2+ol & 2,000 2,000 0
02 It M AHE X 2,000 0 2,000
OHM308 LRAZXAI 2
2,000,000 =+ 14l 2,000
ZR XA OIAHZR A0S 1,000 1,000 0
307 glz2tol & 1,000 1,000 0
02 It MAMHEE 1,000 0 1,000
OZJASTXIAEY DIAHZA HdH3
1,000,000 * 14 1,000
&EH A 15,000 0 15,000
307 gl2tol & 15,000 0 15,000
04 DIZHHALALSE E X 15,000 0 15,000
OXNEN A 15,000,000 = 14 15,000
ZLA SHAY 1,950,000 0 1,950,000
J| 975,000
Al 975,000
AXLOA 2 159,000 0 159,000
J| 79,500
Al 79,500
101 @124 dl 68,000 0 68,000
J| 34,000
Al 34,000
04 JIZHHZ2XREES 68,000 0 68,000
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ZLoA SAANY o E)
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OAZL-YA M2OIH 68,000
=JlE= 4,600,000& = 1H ~ 123 55,200
J| 27,600
Al 27,600
oIt 176,100& = 1H » 12& 2,114
J| 1,057
Al 1,057
oAt 22 3,496,000& = 14 3,496
J| 1,748
Al 1,748
cAEE MIEXNREES 5,190,0008 * 14! 5,190
J| 2,595
Al 2,595
o=UWEE N 100,000& = 1H = 203l 2,000
J| 1,000
Al 1,000
201 L2 | 41,000 41,000
J| 20,500
Al 20,500
01 AP 221 41,000 41,000
Ogsrx gl 35,000
cHHARESHI 200,000& = 102l 2,000
J| 1,000
Al 1,000
o dHFEH|I S Xl 200,000& * 53 1,000
J| 500
Al 500
oAEZE DM QIAHI
20,000& = 2& = 1002 4,000
J| 2,000
Al 2,000
ocE2= % JIE8& M 5,000,000& * 53 25,000
J| 12,500
Al 12,500
= J|Et==EHl 3,000,000& * 14l 3,000
J| 1,500
Al 1,500
Oz &l 2,800
oo as S2ohAlY
7,000 = 5% * 803l 2,800
J| 1,400
Al 1,400
Ogxtz 3,200
oFAI| AR 100,0008 * 104 * 128 1,200
J| 600
Al 600
oS ANRIIDl Atz 2,000,000& * 14 2,000
J| 1,000
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CHelr ATLOIA SHAY (B9 ®R)
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
Al 1,000
202 O4dl 30,000 0 30,000
J| 15,000
Al 15,000
01 = LH 4 Hi 10,000 0 10,000
OYRFANHI 200,000& = 29 « 253| 10,000
J| 5,000
Al 5,000
03 22 FR0HI 20,000 0 20,000
OgeE= o HELE
2,000,000 * 59 » 23 20,000
J| 10,000
Al 10,000
301 Lt A2 20,000 0 20,000
J| 10,000
Al 10,000
06 212toI =2l 04 Hl 20,000 0 20,000
OY2E U HRLF(2YAY S)
2,000,000& = 5% « 23| 20,000
J| 10,000
Al 10,000
QAR Hestl ¥ 243 1,726,000 0 1,726,000
J| 863,000
Al 863,000
201 Ler2 | 1,034,000 0 1,034,000
J| 517,000
Al 517,000
01 At 22l 86,000 0 86,000
oga Megegs ¢ 30,000
cHMEE LAAANOE 50,000& * 100X 5,000
J| 2,500
Al 2,500
ocHM&EE ALEAINOE 50,0008 * 100= 5,000
J| 2,500
Al 2,500
oHEE AEEHAINOE
50,000& * 100X 5,000
Jl 2,500
Al 2,500
cZHYRAM 200,000& * 50% 10,000
J| 5,000
Al 5,000
oEsdal 50,000& = 100X 5,000
J| 2,500
Al 2,500
Oogxtz 56,000
oAJO0IE & HEHIEX 5,000,0008 78 35,000




o= staz= FM I HSEAED
PSR sds
et ATLOIA SHAY (B9 ®R)
2. 2A B E(AN) - MEAY - BYS 0l &t o8 il HlnE2
Il 17,500
Al 17,500
oZIIE 2= (Z2Y) 3,000,000& = 7& 21,000
J| 10,500
Al 10,500
02 =224l 450,000 0 450,000
Oz22= & HA 450,000
cUAQIT 100 BRERMESH AIE A
gz 8 50,000,000& = 9& 450,000
| 225,000
Al 225,000
03 A2 Z Hl 498,000 0 498,000
ogaolz 108t E3Z2ME 468,000
cyamzIHRY YALY
,000,000& 7€ 28,000
J| 14,000
Al 14,000
cABIZHUSE 2% HAXA
40,000,000 = 14! 40,000
J| 20,000
Al 20,000
oHM23 YAALZX HAEY 29
300,000,000 14 300,000
J| 150,000
Al 150,000
o) AXXHEEZIOY 29H
20,000,000 » 50HZ=2 0 100,000
J| 50,000
Al 50,000
O23 sl N ¢ =2 30,000,000& * 14 30,000
| 15,000
Al 15,000
301 YerE A 25,000 0 25,000
| 12,500
Al 12,500
09 HALAHI E& S 25,000 0 25,000
ogaolz 108 E3ZME 2 25,000
cABIZHHS2Y AHE4
25,000,000& * 14! 25,000
J| 12,500
Al 12,500
307 21201 A 632,000 0 632,000
| 316,000
Al 316,000
02 LAFAAFEX 132,000 0 132,000
Og Mol 108 EEZZNE ZZ2 )8 29 92,000
oEMABTIE AR
250,000& = 200 * 20 « 7& 70,000
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ZLolA SHAY CERED
R.RN-ZE-E(HH) - HRAY - BES Ol &k o il Hl D = 2t
Il 35,000
Al 35,000
oNYHLRY 0IAY|
2,200,000& » 1H 108 22,000
| 11,000
Al 11,000
OdelE Yag 20,000,000 * 24 & 40,000
| 20,000
Al 20,000
04 CIZtHALAIHE E X 500,000 0 500,000
Og ol 108 E3ZZ2RE 70,000
oS AL HEUS 30,000,000& * 14 30,000
| 15,000
Al 15,000
SRI2s WAATX HAEY LAHS
40,000,000& * 14l 40,000
| 20,000
Al 20,000
Oda d=sdg K& 10,000,000& = 14| 10,000
| 5,000
Al 5,000
ogatial Izl 420,000
oS ZMel Xl Ot0lAGHI 3
100,000,000 * 14 100,000
| 50,000
Al 50,000
= 0t0l AGH3l OtAlCHEI T
100,000,000 * 14! 100,000
| 50,000
Al 50,000
ogt= 0t0lAGTHI| OFAICHAICZIE
100,000,000 * 14! 100,000
| 50,000
Al 50,000
= 0t0lAGHI I SEE-AHUHS
20,000,000& * 14l 20,000
| 10,000
Al 10,000
oW 0t0lAGBHIIeld 20,000,000 = 14 20,000
| 10,000
Al 10,000
oM=L AEEY ANEAHOE BUR
th 3l 20,000,000 = 14 20,000
| 10,000
Al 10,000
ocd=I=E3 ZEUS 20,000,000& * 14! 20,000
| 10,000
Al 10,000
ocdIMENEUI LaU3
40,000,000& * 14l 40,000




A= 2o = FM I HSEAED
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CHelr ATLOIA SHAY (B9 ®R)
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
Jl 20,000
Al 20,000
405 XHoHF S HI 35,000 0 35,000
J| 17,500
Al 17,500
01 XY 2 Z F S| 35,000 0 35,000
O1n1da SIEHLAMY AXZ=2E 72 35,000
o 0t0lAGHI ME 1,500,000& * 20K E 30,000
Jl| 15,000
Al 15,000
oZH 22g 5,000,000& * 1X 5,000
J| 2,500
Al 2,500
UMNATX 2BMARY 65,000 0 65,000
J| 32,500
Al 32,500
201 Let24E] 5,000 0 5,000
J| 2,500
Al 2,500
01 At 221l 5,000 0 5,000
o=2g=¢ 5,000
CATLOIA 2995 U ADXVBAE
g3 sl 100,000& = 10H = 53| 5,000
J| 2,500
Al 2,500
308 XX EHH SOl A 60,000 0 60,000
J| 30,000
Al 30,000
10 3J/2S0HUHeSIH4HAE ALS I 60,000 0 60,000
OSHAZHLHUE CIHEH OF3t0I0 24
30,000,000& * 21+ & 60,000
J| 30,000
Al 30,000
48 AZ=XZSE 29 41,000 0 41,000
AXXZSY 29 41,000 0 41,000
307 21201 A 41,000 0 41,000
02 LAFAAFEX 41,000 0 41,000
OAZ=2Y 29 K& 41,000
CcAXXZY AR 2HH(NXAHMELZ)
41,000,000& * 14 41,000
s =4 1,159,092 991,612 167,480
J| 258,664
< 59,016
Al 841,412
dEH=s A 48,000 51,000 A 3,000
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AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
307 2Iz2to| & 48,000 51,000 A 3,000
02 QIZHA AAIE E X 40,000 30,000 10,000
O&= HdHIXFE HEMHE LFAY
30,000,000& = 14! 30,000
OMESES NEX =a2eag
10,000,000& = 1A 10,000
03 QIZE X HAESHHIEX 8,000 21,000 A 13,000
OXg X & 2| 8,000,000 = 14 8,000
MEHE NESX BIHX &9 204,864 204,864 0
J| 102,432
Al 102,432
307 giztol A 204,864 204,864 0
J| 102,432
Al 102,432
02 QI2tAAMAIE E =X 204,864 204,864 0
OMet=s NEA iX 2
25,608,000& * 8%Y 204,864
J| 102,432
Al 102,432
HEd Hsg2s NI 153,648 153,648 0
J| 76,824
Al 76,824
307 2iztol & 153,648 153,648 0
J| 76,824
Al 76,824
02 QIZIA AAIE E X 153,648 153,648 0
oozd Msegs XN=X Xl
25,608,000 ~ 6H 153,648
J| 76,824
Al 76,824
AL 0lsd XNIAY 113,440 85,760 27,680
J| 79,408
& 17,016
Al 17,016
301 et A= 113,440 85,760 27,680
J| 79,408
& 17,016
Al 17,016
01 Al E & A 46 2 113,440 85,760 27,680
OAZ=2UZ 0|23 XA
113,440,000 = 14! 113,440
J| 79,408
& 17,016
Al 17,016
M 29 8,640 8,640 0
202 04| 8,640 8,640 0
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01 2L I 8,640 8,640 0
OAZXOIAE 2=
20,000& = 3Y = 123 ~ 12& 8,640
MYz 24 24,000 19,200 4,800
= 12,000
Al 12,000
307 2Iz2t0| A 24,000 19,200 4,800
= 12,000
Al 12,000
02 QI AAIE E X 24,000 19,200 4,800
OME=swna 2N 24,000,000 = 14 24,000
& 12,000
Al 12,000
22 el 60,000 0 60,000
& 30,000
Al 30,000
307 giztol A 60,000 0 60,000
& 30,000
Al 30,000
04 CIZ2tSHALALS B X 60,000 0 60,000
oagd =H g2t U3
60,000,000 * 14! 60,000
& 30,000
Al 30,000
ol 8= HLAMS 11,000 11,000 0
307 2izto| A 11,000 11,000 0
04 OIZ2tSHAFAFS B X 11,000 11,000 0
OHMI30s Lol 8= HLIAE
11,000,000& = 14 11,000
M= It 22018 20,000 19,000 1,000
307 2Iz2to| A 20,000 19,000 1,000
04 SIZ2SHAAISH E & 20,000 19,000 1,000
OHM173 &2IJt= e 3
20,000,000 * 14! 20,000
2HH =2 BHECIE O3 20,000 20,000 0
307 212t0| & 20,000 20,000 0
04 SIZ2HSHAAISH E & 20,000 20,000 0
OHM143 HEH A2HHEQUEH U3
20,000,000& * 14! 20,000
s3I =2 K44 =2 03 150,000 150,000 0]
307 QI2t0| ™ 150,000 150,000 0
04 CIZ2tSHALALS B X 150,000 150,000 0
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02018 =3UJ| 8= |44 EF0UH3
150,000,000& * 14 150,000
b =& e 3,000 3,000 0
307 gl2tol & 3,000 3,000 0
04 DIZHHALALSE E X 3,000 3,000 0
OHM183l ZBEHICH =g hal
3,000,000& = 14 3,000
d= AAIY 3 15,000 15,000 0
307 21201 A 15,000 15,000 0
04 QIZFHALAIR B & 15,000 15,000 0
OHM9sl M=aAAIZY U3
15,000,000 14 15,000
2T 02 MEMSE U 20,000 20,000 0
307 21201 A 20,000 20,000 0
02 HIAHFAANGFEX 20,000 0 20,000
02018 & =24 dEHSHS
20,000,000& = 14 20,000
ZAECOMEH =SS 50,000 50,000 0
307 glz2+ol & 50,000 50,000 0
02 It M AHE X 50,000 50,000 0
OHM263l 2S00l MER S
50,000,000 = 14l 50,000
ZEEY 2238 30X 2 U= 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
04 QIZFHALAIH 2 = 5,000 5,000 0
OLVEW 242 39X 203
5,000,000& = 14 5,000
SEH Z2RE HUANSE 8,000 8,000 0
307 gl2tol & 8,000 8,000 0
04 DI2HS AFAFRI 2 X 8,000 8,000 0
OM4zl et 23 HUAWE
8,000,000& = 14 8,000
ZE XA B2 CH & 2,500 2,500 0
307 21201 A 2,500 2,500 0
02 It S AIHE L 2,500 0 2,500
OHM218 22T XA BI2TH 3
2,500,000& = 14| 2,500
ZRZXAD HEHE U3 1,000 1,000 0
307 21201 A 1,000 1,000 0
02 QAHFAAHEX 1,000 0 1,000




e 222 SN HASEAED
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oo Z8 . o9 (31H) - MSAY - BA= Ol At 04 %Eﬁ HR=2
OHMI243] 2K XA MEH X3
1,000,000 * 14! 1,000
ZASXAD =203 5,000 3,500 1,500
oIz2tol & 5,000 3,500 1,500
02 QI AAIRE E X 5,000 0 5,000
OHM193 LKA XALD =203
5,000,000& = 1A 5,000
2 XIAFD| BHECIE Y3 15,000 2,000 13,000
oIz2tol A 15,000 2,000 13,000
DIZFAMAIE E X 15,000 0 15,000
OHM193 2R XIAID| BHESIE 3
15,000,000 = {14! 15,000
2 XAD THHZ2e24H01E U3l 2,000 2,000 0
307 QI2t0| & 2,000 2,000 0
02 AI2tAMAIE E =X 2,000 0 2,000
OHM193 ZRZXAD] HHZ2H01EUHE
2,000,000& = 1Al 2,000
2 XIAFDl HIOIEZ U3 2,500 2,500 0
307 gizto| A 2,500 2,500 0
02 QIZ2IA AAIE B X 2,500 0 2,500
OHM293] ZR=XIAD| HOIEZ 43
2,500,000& = 14l 2,500
2 XADl WEE U3 1,000 1,000 0
307 2iz2tol & 1,000 1,000 0
02 QIZ2HAAAIE E X 1,000 0 1,000
OHM293] ZR XA WMEZ U3l
1,000,000 = 14! 1,000
2 XARD &3S 2,500 2,500 0
oI2tol A 2,500 2,500 0
02 QIZHA AAIE E X 2,500 0 2,500
OHM183 LKA XIALD| 3203
2,500,000& = 1A 2,500
2 XIAFDl HILIA THE 2,500 2,500 0
oIztol A 2,500 2,500 0]
DIZFAMAIE E X 2,500 0 2,500
OHM193] ZR XA HUA T3l
2,500,000& = 1A 2,500
2 XIAFD| OF2CH S 1,500 1,500 0
orztol A 1,500 1,500 0
02 AI2AtAMAIE E =X 1,500 0 1,500




MEHE B4 (sl &2)
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OHM1038 Z2AT XAl OFRTHZ
1,500,000 * 14 1,500
ZRASXNAD =S U3 1,000 1,000 0
307 gl2tol & 1,000 1,000 0
02 IZHE M AHE L 1,000 0 1,000
OM73l ZAZXAD =4U3
1,000,000& * 14 1,000
ZRASXAD ZAHS 1,500 1,500 0
307 21201 A 1,500 1,500 0
02 IAHFAAHEX 1,500 0 1,500
OHM9sl ZJAZXAD ZAUS
1,500,000 = 14! 1,500
ZRSXADI THEA CHE 1,500 1,500 0
307 21201 A 1,500 1,500 0
02 HIAHFAANGFEX 1,500 0 1,500
OHBsl ZAZXAI NHEA el
1,500,000& * 14 1,500
ZRASX A RS 1,500 1,500 0
307 glz2+ol & 1,500 1,500 0
02 It M AHE X 1,500 0 1,500
OHM198 LRAZXAI ERUZ
1,500,000& * 14 1,500
ZEANL MEH=SHS 90,000 90,000 0
307 glz2tol & 90,000 90,000 0
04 QIZFHALAIH 2 = 90,000 90,000 0
ORMosl 2SAUMEH U
90,000,000& =« 14l 90,000
=28 258 Usl ot 3,000 3,000 0
307 gl2tol & 3,000 3,000 0
02 SIZtA M AHE L 3,000 0 3,000
OZE=E 258 s &I+ 3,000,000& = 14 3,000
JIEt Ol NJ(MES) 26,000 28,000 A 2,000
307 glz2+ol & 26,000 28,000 A 2,000
02 It M AHEE 26,000 0 26,000
OJIet tHal X& 26,000,000& = 14| 26,000
SSLEH EFUS 30,000 0 30,000
307 21201 A 30,000 0 30,000
04 QIZFHALAIH B = 30,000 0 30,000
OS&t EFU3 30,000,000& * 14 30,000
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